Chapter 2	
Economic Environment: The Fundamental Connection

Opening Vignette: Nova Scotia: Video Development Hot Spot
Thinking Critically Questions

1. What are the factors of production for the main industry of your hometown?
ANS:
Student answers will vary but should include any natural resources, the labour force, and possibly market factors

2. When unemployment levels are very low, companies have difficulty finding workers and may outsource some jobs. Sometimes jobs are outsourced to developing countries. Could jobs be outsourced to Canada’s “have not” provinces? Why or why not?
ANS:
Students should see the wage differences between our “have not” provinces and developing countries as a barrier to outsourcing within Canada but creative thinkers may find some ideas. Students may mention barriers such as transportation and distance; they should be reminded that these are also the reasons some goods and services cannot be outsourced to developing countries and challenged to find ways around those barriers.

3. Are interprovincial trade barriers a problem in moving goods across the country? Are these barriers changing?
ANS:
Yes and yes. Some notable barriers are those in the alcohol industry. The federal law prohibiting sale of alcohol across provincial boarders has been repealed but there are still barriers among the provinces (a current court challenge of the law prohibiting bringing alcohol from Quebec to New Brunswick is an important step). There are also barriers related to services such as the requirement for licences in each province.

4. Do some Internet research. Are software companies locating in other provinces? Has Nova Scotia attracted any recently?
ANS:
The answer should be yes and the specifics will change each semester.

5. If you or your friends have a favourite video game, check to see where the programming is done. Is it a global product (with contributions of programming or physical components from three or more continents)?
ANS:
Ask students to provide specific examples.


End-of-Chapter Review Questions

1. Explain economics as a circular flow.
ANS: 
Economics circular flow is the movement of inputs and outputs among households, businesses, and governments; it is a way of showing how the sectors of the economy interact.
	Another way to see how the sectors of the economy interact is to examine the circular flow of inputs (factors of production) and outputs among households, businesses, and governments, as shown in Exhibit 2.1, Economics as a Circular Flow (see page 32). Review the exchanges by following the purple circle around the inside of the diagram. 
· Households provide inputs (natural resources, labour, capital, entrepreneurship,
knowledge) to businesses (to the resource markets).
· Businesses convert these inputs into outputs (goods and services) for consumers to
purchase (the product markets)
· Now we’ll follow the green circle:
· Consumers receive income from rent, wages, interest, and ownership profits (from the resource markets).
· Businesses receive income from consumer purchases of goods and services (from
the product markets).
The other important exchange in Exhibit 2.1 takes place between governments (federal, provincial or territorial, and municipal) and both individuals and businesses. Governments supply many types of publicly provided goods and services (highways, schools, police, courts, health services, employment insurance, Canada Pension Plan) that benefit individuals and businesses. Government purchases from businesses also contribute to business profits. The contractor who repairs a local stretch of highway, for example, is paid by government for the work. As the diagram shows, government receives taxes from individuals and businesses to complete the flow. Changes in one flow affect the others. If the government raises taxes, households have less to spend on goods and services. Lower consumer spending causes businesses to reduce production, and economic activity declines; unemployment might rise. In contrast, cutting taxes can stimulate economic activity. Keep the circular flow in mind as we continue our study of economics. 

2. What are the factors of production? How do they work together to produce goods
and services?
ANS: 
Factors of production are the resources used to create goods and services. By using the factors of production efficiently, a company can produce more output with the same resources. Four traditional factors of production are common to all productive activity: natural resources, labour, capital, and entrepreneurship. A fifth factor has been recognized, knowledge, acknowledging its key role in business success.
	Commodities that are useful inputs in their natural state are known as natural resources. They include farmland, forests, mineral and oil deposits, and water. Sometimes natural resources are simply called land, although, as you can see, the term means more than just land. Today, urban sprawl, pollution, and limited resources have raised questions about resource use. Conservationists, ecologists, and government bodies are proposing laws to require land use planning and resource conservation.
	The economic contributions of people working with their minds and muscles are called labour. This input includes the talents of everyone—from a restaurant cook to a nuclear physicist—who performs the many tasks of manufacturing and selling goods and services. The tools, machinery, equipment, and buildings used to produce goods and services and get them to the consumer are known as capital.
Sometimes the term capital is also used to mean the money that buys machinery, factories, and other production and distribution facilities. However, because money itself produces nothing, it is not one of the basic inputs. Rather, it is a means of acquiring the inputs. Therefore, in this context, capital does not include money.
	Entrepreneurs are people who combine the inputs of natural resources, labour, and capital to produce goods or services with the intention of making a profit. These people make all the decisions that set the course for their companies; they create products and production processes. Because they are not guaranteed a profit in return for their time and effort, they must be risk takers. Of course, if their companies succeed, the rewards can be great.
	Knowledge is the combined talents, skills, and capabilities of individuals in the workforce. As the world becomes ever more uncertain, the very nature of work, organizations, and management is changing. The new competitive environment places a premium on knowledge and learning. 

3. What are the four types of economies? How do they differ regarding the ownership and allocation of the factors of production?
ANS:
The four types are market economy, command economy, socialism, and mixed economy. 
a. A market economy, also known as the private enterprise system or capitalism, is based on competition in the marketplace and private ownership of the factors of production (resources). In a competitive economic system, a large number of people and businesses buy and sell products freely in the marketplace. In a pure market economy, all the factors of production are owned privately and the government does not try to set prices or coordinate economic activity.
	A market economy guarantees certain economic rights: the right to own property, the right to make a profit, the right to make free choices, and the right to compete. The right to own property is central to a market economy. The main incentive in this system is profit, which encourages entrepreneurship. Profit is also necessary for producing goods and services, building plants, paying dividends and taxes, and creating jobs. The freedom to choose whether to become an entrepreneur or to work for someone else means that people have the right to decide what they want to do on the basis of their own drive, interest, and training. The government does not create job quotas for each industry or give people tests to determine what they will do.
	In a market economy, competition is good for both businesses and consumers. It leads to better and more diverse products, keeps prices stable, and increases the efficiency of producers. Producers try to produce their goods and services at the lowest possible cost and sell them at the highest possible price. But when profits are high, more companies enter the market to seek those profits. The resulting competition among companies tends to lower prices. Producers must then find new ways of operating more efficiently if they are to keep making a profit—and stay in business.
b. In a command economy, also called a planned economy or central planning, the government owns virtually all resources and controls all markets. Economic decision making is centralized (hence the term central planning): the government, rather than the market’s competitive force, decides what and how much to produce, where to locate production facilities, where to acquire raw materials and supplies, who will get the output, and what the prices will be. This form of centralized economic system offers little if any choice to a country’s citizens.
c. Socialism is a social and economic system in which the basic industries are owned by the government (social ownership) or by the private sector under strong government control.     A socialist state controls critical large-scale industries, such as transportation, communications, and utilities. Smaller businesses may be privately owned. To varying degrees, the state also determines the goals of businesses, the prices and selection of goods, and the rights of workers. Socialist countries typically provide their citizens with a higher level of services, such as healthcare and unemployment benefits, than do most market-oriented countries. As a result, taxes and unemployment can also be quite high in socialist countries. Sweden is often cited as one of the primary socialist countries in the world.
d. Canada and Great Britain, among others, are called mixed economies; that is, they use more than one economic system. Sometimes, the government is essentially socialist and owns basic industries. In Canada, some industries are at least partly owned or controlled by the various levels of government (e.g., communications, education, healthcare, transportation, and utilities), but most activities are carried on by private enterprises, as in a market system. The few factors of production owned by the government include some public lands, Canada Post, and some water resources. But the government is extensively involved in the economic system through taxing, spending, and social (welfare) activities. The economy is also mixed in the sense that the country tries to achieve many social goals—income redistribution (transfer payments) and Canada Pension Plan, for example—that might not be attempted in purely market-oriented systems. 
	Exhibit 2.2, the Basic Economic Systems of the World (page 36) summarizes key factors of the world’s economic systems.

4. What are the four market structures?
ANS: 
The number of suppliers in a market is called market structure. Economists identify four types of market structures: (a) perfect competition, (b) monopolistic competition, (c) oligopoly, and (d) pure monopoly. Exhibit 2.3 (page 36) illustrates the four types of market structures and Exhibit 2.4 (page 37) summarizes the primary types of market structures.
5. Distinguish between microeconomics and macroeconomics. What are the three main macro goals?
ANS: 
Economics has two main sub-areas. Microeconomics focuses on individual parts of the economy, such as households or businesses. In contrast, macroeconomics is the study of the economy as a whole. It looks at aggregate data—data for large groups of people, companies, industries, countries, or products.

6. How do GDP and GNP differ?
ANS: 
The most basic measure of economic growth is the gross domestic product (GDP). GDP is the total market value of all final goods and services produced within a nation’s borders each year. It is reported quarterly and is used to compare trends in national output. When GDP rises, the economy is growing. 
	Unlike the GDP, the GNP measures what is produced by the nation regardless of where the factors of production are located. Therefore, the Canadian GNP includes the value of the goods and services produced by Canadian companies in Canada and profits from capital held abroad.

7. What are the various types of unemployment?
ANS: 
Economists classify unemployment into four types: frictional, structural, cyclical, and seasonal.
a. Frictional unemployment is short-term unemployment that is not related to the business cycle. It includes people who are unemployed while waiting to start a better job, those who are reentering the job market, and those entering for the first time, such as new university and college graduates. This type of unemployment is always present and has little impact on the economy. 
b. Structural unemployment is also unrelated to the business cycle but is involuntary. It is caused by a mismatch between available jobs and the skills of available workers in an industry or a region. For example, if the birth rate declines, fewer teachers will be needed. Or the available workers in an area might lack the skills that employers want. Retraining and skill-building programs are often required to reduce structural unemployment. 
c. Cyclical unemployment occurs when a downturn in the business cycle reduces the demand for labour throughout the economy. In a long recession, cyclical unemployment is widespread, and even people with good job skills can’t find jobs. The government can partly counteract cyclical unemployment with programs that boost the economy. 
d. Seasonal unemployment occurs during specific seasons in certain industries. Employees subject to seasonal unemployment include retail workers hired for the December buying season, road construction, and employees in winter ski areas

8. What are monetary policy and fiscal policy? Who is responsible for each?
ANS: 
Monetary policy refers to the Bank of Canada’s programs for controlling the amount of money circulating in the economy and controlling interest rates. Changes in the money supply affect both the level of economic activity and the rate of inflation. According to the Bank of Canada Act of 1934, the Bank of Canada is the central banking system that prints money and controls how much of it will be in circulation to “promote the economic and financial well-being of Canada.” As the Bank of Canada increases or decreases the amount of money in circulation, these decisions affect interest rates (the cost of borrowing money and the reward for lending it). The Bank of Canada can change the interest rate (also called the bank rate and target for the overnight rate) on money it lends to banks, signalling to the banking system and financial markets that it has changed its monetary policy. Banks, in turn, may pass along this change to consumers and businesses that receive loans from the banks. If the cost of borrowing increases, the economy slows because interest rates affect consumer and business decisions to spend or invest. The housing industry, business, and investments react the most strongly to changes in interest rates. As you can see, the Bank of Canada can use monetary policy to contract or expand the economy. 
	Fiscal policy is the program of taxation and spending. By increasing government spending or by cutting taxes, the government can stimulate the economy. The more government buys from businesses, the greater business revenues and output are. Likewise, if consumers or businesses have to pay less in taxes, they will have more income to spend for goods and services. Tax policies in Canada therefore affect business decisions. High corporate taxes can make it harder for Canadian companies to compete with companies in countries with lower taxes. As a result, companies may choose to locate facilities in other countries to reduce their tax burden.

9. What are contractionary policy and expansionary policy?
ANS: 
With contractionary policy, the Bank of Canada restricts, or tightens, the money supply by selling government securities or raising interest rates. The result is slower economic growth and higher unemployment. Thus, contractionary policy reduces spending and, ultimately, lowers inflation. With expansionary policy, the Bank of Canada increases, or loosens, growth in the money supply. An expansionary policy stimulates the economy. Interest rates decline, so business and consumer spending go up. Unemployment rates drop as businesses expand. But increasing the money supply also has a negative side: more spending pushes prices up, increasing the inflation rate.

10. What is relationship management? How can it be achieved?
ANS: 
Companies are turning to many different strategies to remain competitive in the global marketplace. One of the most important is relationship management, which involves building, maintaining, and enhancing interactions with customers and other parties to develop long-term satisfaction through mutually beneficial partnerships. Relationship management includes both supply chain management, which builds strong bonds with suppliers, and relationship marketing, which focuses on customers. In general, the longer a customer stays with a company, the more that customer is worth. Long-term customers buy more, take less of a company’s time, are less sensitive to price, and bring in new customers. Best of all, they require no acquisition or start-up costs. Good longstanding customers are worth so much that, in some industries, reducing customer defections by as little as five points—from, say, 15 percent to 10 percent per year— can double profits.

11. What is a strategic alliance? What are its benefits to the companies involved?
ANS: 
Another important way companies stay competitive is through strategic alliances (also called strategic partnerships). The trend toward forming these cooperative agreements between companies is accelerating rapidly, particularly among high-tech companies. These companies have realized that strategic partnerships are more than just important—they are critical. Strategic alliances can take many forms. Some companies enter into strategic alliances with their suppliers, which take over much of their actual production and manufacturing.
	Companies in the same industry often form alliances. Smaller companies with unique products or technologies may partner with larger companies that can provide wider distribution in exchange for access to the technology. Even rivals find strategic alliances advantageous.

12. Why is it important for companies to create a competitive workforce?
ANS: 
There are a few reasons companies want to create a competitive workforce. First is the supply and demand case. If the supply or labour is high then companies can have more choice and theoretically choose the best candidates for positions, which may help their competitive positioning. Alternatively, if companies are competing for a small labour pool then employees have greater choice and companies may have to “take what they can get” or pay a premium for those employees who are in high demand. The second case is a competitive workforce and could mean a more competitive company. Companies are strengthened when the quality of their workforce is better and more competitive. Last, companies want a competitive workforce as workers will have mobility and companies can hire as needed or lay off if appropriate.

13. How can understanding economics help you as a consumer? As a business manager or an owner?
ANS: 
It can help you be more knowledgeable and insightful in everyday life. You will understand why prices are going up or down, when interest rates will change, and when and why the unemployment rate will be affected. A knowledge of basic economic concepts can help you decide whether to change jobs (and how much compensation to ask for) and whether to buy a car now or wait until next year. When you hear that a car dealership has 115 days of inventory, your understanding of the forces of supply and demand will tell you that now may be the time to buy that new car because you are a better negotiation position. Similarly, economics will help you become a better-informed citizen. Almost every political issue is, in some way, grounded in economic concepts. Economics can also help you understand what is happening in other countries and raise your awareness of opportunities in those countries. Understanding economics and how changes in an economy affect business is important to success. Recently, we have experienced many changes, from nations changing economic systems to worldwide economic challenges. These have created opportunities for some and threats to others.


[bookmark: _GoBack]CRITICAL THINKING CASE: Tough Times? Not at Winpak
Thinking Critically Questions
1. What type of unemployment is occurring when manufacturers close plants because they cannot compete with labour rates in other countries? Explain what this might do the circular flow of the Canadian economy.
ANS:
This should be considered structural unemployment. It reduces the ability of households to purchase goods and services thereby reducing the income businesses receive from consumer purchases

2. What factors of production is Winpak using to be able to compete with developing nations?
ANS:
The factors of production Winpak is using are technology and knowledge.

3. How have the actions of the Bank of Canada influenced the value of the Canadian dollar compared with the U.S. dollar in the past three years?
ANS:
This answer will change over time but relative interest rates should always be in the answer. Reference to contractionary or expansionary actions should be expected.

4. If wage rates in Canada are increasing more than those in other countries, how should this affect prices and inflation rates? Explain the type of inflation (or deflation) that is occurring.
ANS:
Prices should go up via cost-push inflation.

5. What sort of business arrangement have Winpak and Wipak entered into? If they end up controlling all the patents in the coffee creamer market, what sort of competitive system might be in place?
ANS:
Winpak and Wipak entered into a strategic alliance. The competitive system that might be in place is an oligopoly.
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